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English | 3A :/ 1. 1stTerm SA(For exercise only)

2. PLPRW (16) WS + Book
3B:/ 1.1stTerm SA(For exercise only)

2.PLPRW (16) WS + Book
3C (Big class) - 1. WB
1. Writing (3) 2. 1stTerm SA(For exercise only)
2. All PLPRW WS 3. PLPRW (16) WS + Book
3CR (Small class) : 1. WB,

1. CW(Ch.1) 2. 1stTerm SA(For exercise only)
2. Pen. (Ch. 1) 3. PLPRW (16) WS + Book

3. FA(2b)

4. FAQ3)

5. Lis.WB(Ch.6)

6. All PLPRW WS

3D: 1. IstTerm SA(For exercise only)
1.Writing Task (2)(final copy) 2. PLPRW (16) WS + Book

3. Writing Task (3)

4. RC WS (Ch.5,6) (Corr.)

5. GR WS (Ch.6) (Corr.)
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